EARAROBEEIERT — 2 N— IBISH —F

2017868140 (k) 6EEM1H

m C3=Z ¥5%4mt ‘ [R#&] B ‘ (] — | & (B) 14000 B
[AE4£] 1 7% :250,000 ™ ~ 23#%&:60,000”  33&:30,000”  437&:20,000MH .~ 57&:15,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. 4t 7 | BPE 1:34.9 1-1-1-1 | 41.8| — 1 485 | WiZFIZ (EB)
117171 7RbL> N 56.0 (=) (+2) TEKRR
R:xA1=gr7—Z2 B: 5 1OL>X INHISH T 7— L
g Ry B4 | AZEfEK 1:35.0 5-5-4-2 |41.5| — 3 | 410 |RBEE (HH)
] 4| 7T1TT1T 54.0 (1/2) (15) | PRI
L:IMY>FEaT1 B:TIL6T7027 P95 BeA
N NI Kii—E : 00— - HHEA (FEh)
slglo| TTY1HF3 it 4 i 1.(3‘8.7 2-2-2-3 | 42.5 2 f73> o
R:vPRYIYZXIX B:I-YT7YTFT2R AR
Lo s 5 | Bl 1:35.9 6-6-6-5 |42.2| — 6 413 | BElllEE (EE)
4|8/10 77 54.0 (11/2) Ge | B SERTATEK
LY LFM4N—b B:V—ILIXE2— $#HE 1ER
.= K & ABR :36. -4-3- . — AR EE (FEH)
5071 8| 7AN/ hEZ R i 7 A ) feo) SEABRl
LHLFTAN—F BTRELT KRB
RN 44 | EEAE 1:37.1 8-8-8-8 |42.4| — 10 | 423 |RE#E (EH)
61111 42 KIXX 56.0 3) (-3) |REREMS
LT IANIVE B8R F1—3F5— NEEEE RA%
5 3 i o6 | REHERN 1:37.2 10-10-9-9 |41.5| — 8 404 | EEFIEX (BH)
7 6| rAI> £52.0 (7E) (1) |1B) A—AHNZ hEE
LiF—TARTN=— BHIITTUT FNEEEAN
o . i 6 | MERAF 1:37.3 7-7-7-1 | 43.3| — 7 442 | BEFIER (RH)
8 2 | ET/Fr (1/2) @7) | 1) A—LFAZ pEE
R:v—NFXY>F— BE7=ZZXhL ARES
R B .38. 2 . — EEFIR (EH)
9 3| ENTIEAF it 6 s 1(3:3)0 3-3-5-6 | 44.6 5 :1_33 b
ENTITFANRT S BENTIHAX =is =3
N S =\ —p 6 | MAAEH 1:39.6 9-9-10-10 | 44.0 | — 9 460 | BEFIEX (EH)
10/5]5| < AZ—=75>7)) " 5%_0 (10) (-4) ) A—ILHANZ MEE
L= BT T) L— BEH%H
® 1—F—@EBIERL
1T=7r= 7,9,3,8,4,10,2,1,5,6
2a=5F= 7,9,3,8,4,10,2,1,5,6
Ja=5= 7,9,8,4,3,10,2,1,6,5
40—F— 7,4,9,8,10,3,2,1,6,5
[ N5
BB 7 1908 | | 74 K 4-7 200/ | | # E 4-7 370 | | 3EfE 4-7-9 610M
B B 7 110H 7-9 200M B = 4-7 470 JEE 7-4-9 2,580
4 120 4-9 320M B H 7-4 750M
9 1009

ABICOVWTRDTEEERROODE. TR LIV,




